Math 3 - Trigonometry Review Unit 7

Find the measure of an angle between 0° and 340° coterminal with each given angle.
b —223° 3—) ® 2. =47 o 3. 370° ’
351 0

Sketch each angle in standard position.

4, 15° 5. —230° 6. 395°
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Write each measure in radians. Express the answer in terms of .
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Write each measure in degrees. If necessary, round your answer to the nearest degree.
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Find the exact values of cos@, sin@, and tané for each angle measure.
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13. =120 can &= -T3/2 14.135° g1 & = Ya/a 15. » radions ey & = = (3'/2
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Write a cosine function for each description.
1
16. amplitude = ik period=2,a>0 17. amplitude = 3, period = % a<0
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Write an equation for each translation.
18. y = cos x, 4 units to the left 19. y =sin X, —} units right, 2 units up
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20. Complete the identities.
cscl = 2 secf = : cotfh = CO>9 tan § = b!na

sin e (o5& sSine c0S &
Evaluate each expression. Write your answer in exact form. If the expression is undefined, write undefined.
21.sec (-30°) & G 22. csC 270° o ‘ 23. cot 210° r 24 sec 90°
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25. State the period and asymptotes for y = tan(2x)
?cviod= w asymproyes = X IC
&
Simplify each trigonometric expression. B
26. sin@secd _ dsind
cos &
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Verity each identity.

28.s5in sec fcot & = | 29.CcscH =Ccot dsec 4 30. cosé cscd iand = |

=] cec® = CsLe ¥ | = |

Find the amplitude and period of each function. Then skeich one cycle of the graph of each function. Show all
work (including tablesl).
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3.y = 3sin 4x 32.y = -2 cos;
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